10

—~ N /SN

PC
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Windows

1 2A
170 -OHP
(1)
2 17-OHP
7
9
90.9%
(2) 5 6 PC
NEC
PC PC-9801/8801
PC Windows
Windows
95/98/NT
3) 86%
MS-DOS
Windows

(4)

1

32Byte
3 288
9216Byte(73728Bits)
9600BPS 10

7.7 BBS
() 3
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1
9 162-165 1998
2.
8
57-59 1997
3.
3
7 175-177 1996
4,
()
Windows NT Personal Unix
7 178-184
Web 1996
BBS 5.
6

130-132 1995
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ID
No.
# HHHHE # Hit Ht HHHH HHHHHE H
1 1 7 2 2 4 7
H ID
B 0000.00 1 N 1 96 0000 0000.00
S 1 9 0000.00 1 N 1 96 0000 0000.00
C 1 9 0000.00 1 N 1 96 0000 0000.00
F HHHHAHHH 1 N 1 96 0000 0000.00
R T 1 N 1 96 0000 0000.00
B Blank S Standard C Control
F First Sample R Retest Sample
1.17-OHP
17-OHP
(ng/ml)
14.0 T -
| - 8= -~
SH0E 3 Ak b el A
12.0 J_ [ l . r .
L ' M L
L - §-
11.0 = = x
10.0 [l [ [l [ [ [l [ | I | [
1 2 3 4 5 6 7 8 9 10 11 12
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17-OHP
(ng/ml)

17.0

15.0

13.0

11.0 ]
- -
(")(--{- -L*.l ')<_—<'-\<-_<_ _\,(_-
="

9.0 'l 'l 'l 'l 'l 'l 'l 'l 'l 'l 'l 'l 'l

1 2 3 4 5 6 7 8 9 10 11 12 13 14
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